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Answers for Lesson 8-6, pp. 455-459 Exercises
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about 97 mi at about 41° south of west
about 707 mi; about 65° south of west
about 54 mi/h; about 22° north of east
about 4805 km; about 12° north of west
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Answers for Lesson 8-6, pp. 455-459 Exercises (cont.)
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a. (—1,0) 20. a. (1,—1)
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(—1,3) 24. (4, —6) 25. (—2,3)

35.9 mi/h; 12.9° south of west
about 13.2° north of west

304 mi/h; 9° east of south

Yes; both vectors have the same direction, but could have
diff. mag.

(6,1) has mag. V37, but (2, 1) has mag. V5 .

a. N b. about 173 due east
100

30°
we 30° E >

100

s
Equal vectors have the same mag. and direction.

Vectors are | if they have the same or opp. directions.
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Answers for Lesson 8-6, pp. 455-459 Exercises (cont.)

34. C
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46.

a. {0,0)

b. 2 and € have = mag. and opp. direction.

about 386 mi/h at 14° south of west
—1 11 —1
= ss. | 11] 9. | 1]
A. 111
B. II
C 1
a. N b. (530, 0);(—61.3, —51.4)
c. (468.7,—51.4)
40°| 530 mi/h :
wWe— ~E d. 471.5 mi/h at 6.3° south of east
80 mi/h
s
(—=3,-7) 43. (0, —4) 44. (3, —3)
o g 1Y aty 5/,+ b
-4 4 “lo| 4x 0| /4
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al+ b/
The vectors have the same mag.; the vectors have opp.

directions.

Answers may vary. Sample: (7, 24), (=7, 24),(7, —24),(24,7)
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Answers for Lesson 8-6, pp. 455-459 Exercises (cont.)

47.

48.

49,
50.

51.

52.

a. about 15° south of west

b. about 6.7 h

a. about 24.1 mi; about 14.1 mi

b. about 28 mi at about 30° east of north

about 2229 ft; about 10°

2
a. 3

b. Check students’ work.

Answers may vary. Sample: zero vector = (0, 0); it has mag. 0
and no direction.

a. Yes; when you add integers, which are the coordinates of
the vectors, order is not important.

b. yes; if the first two vectors are the same, but in the opp.
order
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